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Домашнее задание №2 Уровень 3
[image: image9.png]7| Fapacwe Sw Doz |

[F-4378) G725 (- £ )i (0357574

b x

|
3 !ﬁfm, cals¥e - 929z )

|
9| Sen 35 ey 35 cerlo® Yapocrus

Se0 2oo°
ib'f;;\(ffx" ez{?o( -':’Zfz,() - Eoy /:zr— n&é)l

| Yavgepx LD Oz /i mﬂ ‘E
gu U e f 070 O /Jd/j—(&’[i’%ﬂ%/ci
PYLALLLY LLf©  FBED [ FENCD)
ditey HB= o, ,Bsz_‘: 75, Ec:/;;;er@f

Y er e ¥ -
yceraicees = |

¥y -erdy. e CFE), T ¥ =0, 2¢f7
i/xy =20) = % (=) (5ur20) ZZ}/, &< /miﬂ }/
weid fp Fx)=07

§ | Fraims  weatier. pos. g,

@ 4= Lok = ol A |
[74&: /ff[/ !




